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THE OPEN UNIVERSITY OF SRI LANKA
CERTIFICATE IN INDUSTRIAL STUDIES
TTi2230 - INTRODUCING TEXTILES

FINAL EXAMINATION - 2006 / 2007
DURATION: THREE HOURS

Date: 04" April 2007 _ Hours: 0930 —-1230 Hrs

Total Number of questions = 10 Number of questions to be answered = 06;
Answer Question no.f which is compulsory and five (05) additiona
questions. Question 1 carries twenty five (25) marks and questions 2 to 10
carry fifteen marks each.

01 Compulsory Question

What fabric properties can be attributed to comfort of clothing?

{02 Marks)
(b) State two (02) important properties of geo- textiles. {01 Mark)
(c) Name the three (03) basic weaves. : (1.5 Marks)
(d) Define the term ‘stitch density’ with respect to knitting. {01 Mark} |
(e) State four {04) different yarn imperfections. (02 Marks)
(f) What do you understand by ‘Tying in'? (02 Marks)
(g) State the 03 primary motions of weaving. (1.5 Marks)
(h) Draw a Knitted stitch and label it's Legs, Head & Feet. (02 Marks)
(i) Whatis cotton count? (Ne). (02 Marks)
() What are the two (2) methods used to evaluate the resistance to pilling

(02 Marks) -

(k) State the four (4) basic steps of cotton yarn manufacture. (04 Marks) "
() Calculate the tex count of a yarn, if 3000m of it weighs 132 grams.

{02 Marks)
(M) Draw the microscopic view of the cross section of a cotton fibre.
(02 Marks})




(02) (a) Define the term ‘filaments’.

(b) Briefly discuss three (03) requirements of ciothing fabrics.

(c) _Knitted fabrics are more suitable for under wear than woven fabrics.

Explain Why?

(03) (&) What do you understand by the term of ‘warp density'?

(b) Sketch the point paper presentation of the following weaves:-

(i) 1/1 Plain Weave

(i) 1/2 Twill Weaves

(iiy 2/2 Weft Rib Weave
(iv) 8 End Sateen Weave

(04) (a) What are the two (2) main objectives of winding?

(b) Explain briefly the process of pirn winding.

(05) (a) Briefly explain the two (2) “secondary motions” of wearing.

(3) examples for that.

(b) Explain the term “auxiliary motions” and give three

(06) {a) What do you understand by the term stansile strength” of a fabric?

(b) What are the standard atmospheric conditions used for testing of textile
in tropical countries?

(c) Discuss the importance of maintaining standard conditions.




(07) (a) What do you understand by drafting & Doubling (explain with the aid of
suitable diagrams}

(b) Explain the objectives and the process of combing with a suitable

diagram.

+

(08) (a) Give a detail classification of natural Textile fibres.

(b) Explain two methods used to identify cotton fibres.

(09) (a) Give a labelled sketch of a'Jigger’dyeing machine.

(b) Explain how dyeing is carried out in such a machine.

(10) Wrote short notes on any three (03) of following:
{(a) Acid dyes.
(b) Staple Length of Fibres.
(c) Drapability of Fabrics.
(d) Yarn Twist.




